18 Meanings of m and b.notebook November 20, 2013

MEdNINGS OF SLOPE alD INTErCePTS
Menasorsoesammecers | ol MOMDAYIL

AGENDA: warm-up >>> HW CHeck >>> NOTES >>> HOMeWorK

Wa rm - U P %0 Ryan’s Composition

Ryan is writing a
composition for homework. Sertences 60
He decides to keep track of

the number of sentences he " 30
writes compared to the N
time, in minutes, he works. ﬁ'
The graph shows the data
° he collected. 0 020 40 60
Time
\0@6\ (minutes) 20 g

1. At whg oes Ryan write his composition?yW\= > . =

RS eNery D xai g a2

2. Whatis the y-mtercept?

(D, D)
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'astINightxSihw:

8. The line is steeper
and is translated up

1 B 5 D 6 units.
' 9.
g' X 6. A TRUE
: FALSE
4 C 7.C FALSE
FALSE

FALSE
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Algebra I - Lhit 3; Topic 2 —Changes of m& 5

Practice —Changes inm &b pp 357-360
Marme Date Period
1.Describe the change of the graph of y = » ifthe 6. ‘\What would be the equation of the Ine if the lne
1 ¥ = x is translated 6 units up?
equation changes to y = Ex +9.
a Yy =x+6
a. The new line is steeper and shifts up nine. b. y=x-8
b. The new ling is less steep and shifts up nine. €y =4«
. The new line is kss steep and shifts down nine, d y=6

d. The new line iz steeper and shifts down nine,

7. What would be the equation of the Ihe-ifthelhe

2.Describe the change of the graph of ¥ = x ifthe ¥ = x bemomes two times steeper?

equation changes to p =2x .

e V¥ =R+ 2
by =u—2
a, The new line is the same. T
b. The new line is decr 1
. The new line is hcre YERH

d. The new line is hori;

Wﬂm describe the dhange of the

3.Describe the chan
b graph of y =2x - 3 the equation dhanges to

intercept changes t

y=4x+3.

a, The graph shifts dos

b. The graph shifts up

. The graph shifts l=fl

d. The graph shiftsrigl .. . _ . _
9. Given the two linear equations, decide if eadh

staterrent is TRUE or FALSE.

ANyilou? Ssirthe balgalatar desoribe the change of the

graph of p = ¥ if the equation changesto y = - %x .

[
SmmTee
[

~27The graph is ncreasing but is flatter,
AT The graph is horeasing and steeper,

(e graph is decreasing and flatter, —_— Sl SRR RN
d. The graph is decreasing and steeper, Do ] EEXEEEHE i

5. What would be the equation of the line if the

[
SRl
[

[
gy -,
[

U R IR
¥ = x B ranslated 4 units down? At

O PP PR Ry S
]
RV O, S S, S S

[ R R B R |

=1 r=FSatamre
Voo

1
T
x}ﬁ

i+ 4

on B
B ]
I nin

=
|
S

¥ and pzare parallel
¥rand yzare perpendicular,
B stesper than pa
Fzis 4 units abave .

J is 4 units abave e
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MEdNINGS OF SLOPE dND INTEFCEPTS o .58

Come and Go Car Rental charges a base rate o& $0.20 a mile. Erite a function to express the
relationship between the number of miles driven, /77, and the total co65t of fenting a car, ¢ '"\dl *-g?
w O

1. Write an equation that represents this problem situation? |j Q/ — e D\D \(\(\ : i‘)i

2. State a reasonable domain and range for your function and situation:

Function Situation

3. What is the slope of this line? O&D . What does the
slope represent in this situation?

Qﬁ(\a‘ﬂa& 'l m\le

4. What is the y-intercept of this line? E 2 2 . What does the
y-intercept represent in this situation?

vase e

5. Come and Go Car Rental changes their base rate to $35. What
does this change about the relationship in the problem?

C=A0mtas hEnsEES LE
C= . 2.0m +39 &9 0T
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The graphs below represent the distance traveled by three different people. Use these graphs to answer questions 6-8.

Donna Jeff Paula
Distznca fram Hema (Mils) Distanca frim Hema [Mis) Distcnea frém Homa [ Mias)
’/

N\
. . A\ i
U /%> aN_AAD Sk AE\‘)J& L IV N
i \,xn i SOt VEHIC -
NEARY =
( Tra (Hours) Tira fHours) Tha (Hours)

6. What ii ztrf rate at which each person is traveling? &_
D 2= 3on T owgln TR

7. Which person is traveling the fastest and how do you know?

8. What does the y-intercept in each graph represent?

S O H\STon e NS
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Use the situation below to answer questions 9-12.

Some employees of Ace Corporation left their office building and drove separately on the same roe
to a convention. The graph shows the distance traveled by each employee after 5 hours of
nonstop driving at 4 different speeds.

Tz 0 0 0 a0
locbododocdoacdaclaalaalacbad
V 1 I d d T i T
1 1 1 1 1 1 1 1
m———
1 1 1 1 1 1 1 1
—mF = m A= — A= =A== == F=-=F
1 1 1 1 1 1 1
wom
ul} 1 1 1 1 1 1 1 1
= 1 S o A | R
E TR A
11 T A
E [ S S S v T
= Al B
I 1m —
Bor I ]
o b A e
1 1 1
n -
1
' R e e
1 1 1 1 1 1 1 1 1 1 1
[l
@ 1 3 1 4 1 1 7T ®E § 18 11 13 11 It

Time fhaurs)
q What is the slope of the equation that models this situation for Mr. Ab“\:

0 _ 295
- =)
IS RS ArSNe\ed exu\a, 2 \4ours

w. What is the y-intercept of the equation that models this situation?

(OB,

What is the meaning of this/-intercept?

s Alsehcy
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Use the situation below to answer questions 13-16.
Fisherman in the Finger Lakes Region have been recording the dead
fish they encounter while fishing in the region. The Department of
Environmental Conservation monitors the pollution index for the
Finger Lakes Region. The model for the number of fish deathg, for

a given pollution indexX, is y =9.067x +111.958

13. What is the slope of the equation that models this situation?

14. What is the meaning of this slope?

15.  What is the y-intercept of the equation that models this situation?

16.  What is the meaning of this y-intercept?
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®

17. A small business purchased a van to handle its delivery
orders. The graph below shows the value of this van over a
period of time. Which of the following b&t deseribes this

situation?d ({& é\ W/

A

20,000
18,000

16.00(¢\
P,

14,000
12,000 \\
. <

10,000 \1

8,000 \
o

6.000
\\
4,000 =

2,000

Value of the Van
(dollars)

N

0O 1 2 3 4 5 6 7 & 9 10

Elapsed Time Since Purchase
(years)

The van was purchased for $1,600. ?S\DRE
The van decreases in value by $1,600 per year.
The van incréases in value by $1,600 per year.
The van has no value after 5 years.

7




Summary

YADIRCESET

— Syarn Oy @D\(\*'
— O\aYy ke
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Algebra 1 —Lhit 3; Topic 2
Practice - Meaning of Slope and Intercepts No Textbook Correlation
MName Date Period

Using the situation below, answer questions 1-9.
STARZ Car Rentals charges an initial rental fee of $30 plus $£0.50 per mile, STRIFES Car Rentals charges a flat fee of
$45 plus $£0.20 per mile,

1. ‘Write a function rule for the cost of renting a car through STARZ.

2. Write a function nule for the cost of renting a car through STRIPES.

3. Graph the two functions on the graph provided below, Make sure to label the graphs.

Cost

0 B I1 18 M ?F X1 36 &1 46 K] BE 60 66 7 FE K 0BG X ¥E
Miles

4, What does the p-intercept represent in the two equations?

5. What does the slope represent in the two equations?

6, How long would you have to drive so that the cost would be the same?

7. Ifyouwere only driving 90 miles, which car rental should you use?

8. Jeriinstalls granite counter tops. She charges $400 for all jobs and then £80 per linear foot of granite.
A, What is the equation of the line?

B. What iz the p-intercept of the graph? YWhat does it represent?

C. What iz the value of the slope? What does it represent?
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Alagebra ] — Unit 3 Topic 2

November 20, 2013

9,

10.

11.

The graphs below show Lines fand w3 the total

cost, including tax, of an item in two different
states, Which line represents the total cost, including
tax, of an item with a higher tax rate?

E m I
£ ¥
§ E nswer
s3
Bt

Price of Hem {before tax)

The graph below represents the cost of a long

distance call with a phone company based on the
number of minutes.

Cost
{In dollars|

Based on the graph, what is the slope and what
does it represent?

Alyssa's carpet cleaning service charges an initial fee
of £45, plus $5 for every 100 square fest of carpet
cleaned, Alyssa graphed p the amount that her
cleaning service charges, as 3 function of x, every
100 square feet of carpet cleaned, What does the -
intercept of Alyssa's graph represent?

The charge per square foot of carpet cleaned
The number of square feet of carpet cleaned
The mtal amount owed

The initial fee

OO m -

12,

13.

The graph below represents the amount of money
Liz barrowed fraom her father and the number of
monthly pay ments needed to pay it back,

100
Ely
&m
Tm
600
500
400
3m
am
1007

0

Amount Owed {In dollars)

1]

Murnber of Months.

A, What does the slope of the graph represent in
the situation?

B. what does the p-intercept in the graph
represent in this situation?

C. what is the function rule?

Ten students are standing in a line in the front of
the classroom. The teacher has told them to hold
hands with the person on either side of themn. \When
she says "go", the first person squeezes the hand of
the person on their right. As s0on as that person
feels the squeeze, they squeeze the hand of the
person on their right, etc. The graph below
represents the time at which each of the first six
students squeezes the hand of the person on their
right. Why is the p-intercept not 07

o

—_ ok W B
L]

Time Elapsed in Sceonds

I\r 2-.1 3.—.' 4th i'l' 6t

Person in Line
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